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No. 4 ki [ X | R e FREEAT f&i AT JIL R fr | ehwidokor | Fmigiees | mousre | BEOESSE | 5T RILIESE
-1 | Ji S K - i B [ X 19.80 ~  20.40 0.60[ 20.20 31.19 32. 39 32. 63 AR i
-2 |HFH) e oK - A A XA 21.60 ~ 22.20 0.60] 22.00 34.57 35. 77 - EEBRIN =
-3 | HFR) e oK - B |1 X 22.60 ~  22.80 0.20] 22.80 36. 44 37. 64 - EEBRIN =
-4 | Ji oK - B |- 22.80 ~ 23.00 0.20[ 23.00 36.91 38. 11 - AR i
i 5 |HFN)I Ji koK - i @) B |E&FEHI i 23.00 ~ 23.34 0.34] 23.20 37.36 38. 56 38. 68 AR i
-6 |HFH)I Ji oK - B |E&FERI By 23.40 ~ 23.72 0.32] 23.60 38.29 39. 49 39. 66 AR i
-7 | ER) Ji oK - B |E&FERI Ly 23.80 ~ 24.00 0.20[ 24.00 39. 22 40. 42 - EEBRIN i
-8 |HFN)I Ji oK - B |E&FERI i 24.80 ~ 25.13 0.32] 25.00 41. 99 43.19 42. 83 AR i
-9 | HFR)I Ji oK - B |E&FERI B 25.20 ~ 25.40 0.20] 25.40 43.22 44, 42 44. 41 AR i
w10 |SFERI Ji koK - i @) B |E&FEHI i 25.60 ~  26.00 0.40] 25.80 44. 45 45. 65 44. 36 AR AT
-1 | F R Ji koK - i @) A |EERDI B 26.00 ~ 26.20 0.20] 26.20 45. 68 46. 88 45. 16 AR AT
-12 | F R Ji oK - B |E&FERI i 26.20 ~  26.40 0.20[  26.40 46. 27 47. 47 - EEBRIN AT
-13 | &R Ji oK - B |E&FERI i 26.60 ~  26.80 0.20[ 26.80 47.50 48.70 - EEBIRIN i
-14 |FRI Ji oK - A |EERI B 26.80 ~ 27.01 0.21[ 27.00 48. 12 49. 32 - EEBRIN i
w15 |SFRI Ji oK - A |EERI B 27.20 ~ 27.40 0.20[ 27.40 49. 34 50. 54 EEBRIN i
-16 |5 FRI Ji koK - i @) B |E&FEHI i 27.40 ~ 27.60 0.20[ 27.60 49. 96 51.16 - EEBRIN i
-17 | FE R Ji koK - i @) A |EEI B 27.60 ~ 27.80 0.20[ 27.80 50. 57 51.77 - EEBRIN i
-18 |5 F R Ji oK - A |EERI B 28.00 ~ 28.20 0.20[ 28.20 51. 79 52. 99 - EEBIRIN i
-19 | &R Ji oK - B |E&FERI i 28.20 ~  28.40 0.20[ 28.40 52. 41 53. 61 - EEBRIN i
i 20 |$FRI Ji koK - i @) A |EERI B 29.00 ~ 29.55 0.55[ 29.20 54. 99 56. 19 EEBRIN i
21 | &R Ji oK - A |EERI B 29.60 ~ 29.71 0.11[ 29.60 56. 63 57.83 - EEBRIN i
-22 |FFA)11 Ji S K - i A X 30.60 ~ 30.80 0.20[ 30.80 61. 19 62. 39 - EEBRIN =T
w23 | &R Ji oK - A |EERI B 30.80 ~ 31.09 0.29[ 31.00 62. 21 63. 41 - EEBIRIN i
w24 |FRI Ji oK - A |EERI B 31.20  ~ 31.40 0.20[ 31.40 63. 58 64. 78 - EEBRIN i
ik 25 | &R Ji oK - B |E&FERI B 31.60 ~ 31.63 0.03[ 31.60 64.37 65. 57 EEBRIN i
26 | &R Ji oK - A |EERI B 31.80 ~ 32.12 0.32[  32.00 65. 90 67. 10 - EEBRIN i
w27 | FRI Ji koK - i @) B |E&FEI Ly 33.00 ~ 33.20 0.20[ 33.20 77. 62 78.82 - EEBRIN i
28 |5 &R Ji koK - i @) A |EERI B 33.20 ~ 33.31 0.11] 33.20 77. 62 78.82 - EEBRIN i
29 | &R Ji oK - A |EERI B 33.40 ~ 33.52 0.12[ 33.40 78.91 80. 11 - EEBIRIN i
i 30 |SFERI fijE oK - B 16.00 ~ 16.44 0.44] 16.20 24. 09 25. 29 AR i
-31 | F R fijE oK - B |- 17.00  ~ 17.20 0.20] 17.20 27.06 28. 26 - AR i
-32 | &R fijE oK - A |- 17.60 ~ 17.71 0.11] 17.60 27.63 28. 83 - AR i
-33 | SR fijE oK - B |- 19.80 ~ 20.73 0.93[  20.20 31. 19 32.39 32. 49 AR i
34 | R fijE oK - B |- 20.80 ~ 20.89 0.09[ 20.80 31. 99 33.19 33.29 AR i
ik 35 |SFRI fijE K - i B |E&FERI i 21.00 ~ 22.20 1.20[  21.60 33. 64 34. 84 34. 54 AR =
-36 |5 &R fijE K - i O B |E&FEHI i 22.40 ~  23.33 0.93[ 22.80 36. 44 37. 64 37.45 AR =
=37 |5 F R fijE K - i B |E&FERI i 23.40 ~ 23.72 0.32[ 23.60 38. 29 39. 49 39. 31 AR =
-38 |5 F& R fijE K - i B |E&FERI i 23.80 ~ 25.13 1.33[  24.40 40. 15 41.35 41. 60 AR =
-39 | &R fijE K - i O A |EERI B 26.00 ~  26.80 0.80] 26.40 46. 27 47. 47 - EEBIRIN =
w40 |SFERI fijE K - i O B |E&FERI i 26.80 ~ 27.00 0.20] 27.00 48.12 49. 32 EEBRIN =
41 | FRI fiE oK - O A |- 27.20 ~ 27.40 0.20[ 27.40 49. 34 50. 54 - EEBRIN i
42 | FRI fijE K - i O A |EERI B 27.40 ~  27.80 0.40] 27.60 49. 96 51. 16 - EEBIRIN =
-43 | FRI fijE oK - A |- 28.20 ~ 28.60 0.40[ 28.40 52. 41 53. 61 - AR i
44 |FRI fiE oK - O B |- 29.60 ~ 29.71 0.11[ 29.60 56. 63 57.83 - EEBRIN i
ik 45 |FRI £iE oK - i B |E&FERI B 29.80 ~ 29,84 0.04] 29.80 57.33 58. 53 EEBIRIN =
-46 | &R £iE K - i A |EEI B 30.00 ~  30.80 0.80]  30.40 59. 64 60. 84 - EEBIRIN =
47 | FE R £iE K - i B |E&FERI B 31.20  ~  31.40 0.20]  31.40 63. 58 64. 78 - EEBIRIN =
48 | &R £iE K - i A |EERI B 31.40 ~  31.63 0.23]  31.60 64. 37 65. 57 - EEBIRIN =




No. )4 ki P HA X | B e A & AT IS fr | ahmrdokor | Grmigiees | mouwms | BEOESSE | 5T RILIESES
w49 |FERI fijE K - i A |EEI B 31.80 ~ 32.00 0.20]  32.00 65. 90 67. 10 EEBIRIN =
50 |5 F R fijE oK - A |- 32.00 ~ 32.12 0.12[ 32.00 65. 90 67. 10 - AR i




No. )4 ki P R X | R e FREEAT & AT IS fr | ahmrdokor | Grmigiees | mouwms | BEOESSE | 5T RILIESES
ik 51 |SFERI fijE oK - B 32.20 ~ 32.80 0.60[ 32.60 68. 30 69. 50 AR B
-52 | SR fijE K - i O B |E&FERI ki 33.00 ~ 33.31 0.31] 33.20 77.62 78. 82 - EEBRIN =
-53 | &R fijE K - i A |EERI B 33.40 ~ 33.52 0.12]  33.40 78.91 80. 11 - EEBRIN =
54 |SF R fijE K - i A |EERI B 33.60 ~ 33.72 0.12]  33.60 80. 15 81. 35 - EEBRIN =
k55 |$&F R fijE K - i A |EERI B 33.80 ~  34.00 0.20]  34.00 82. 70 83. 90 - EEBRIN =
B[RRI Ji PEARIRZK B |E&FEHI i 18.00 ~ 18.60 0.60] 18.40 28. 69 29. 89 30. 09 AR i
-2 [gHFR)I Ji PEARIRZK B |E&FERI By 18.80 ~ 19.00 0.20] 19.00 29. 50 30. 70 31.09 AR i
-3 [geFRI Ji PEIRIRZK B |E&FERI Ly 19.20  ~  19.60 0.40] 19.40 30. 06 31. 26 31. 41 AR i
P-4 (BRI Ji PEARIRZK B |E&FERI i 20.00 ~ 20.20 0.20] 20.20 31.19 32. 39 32. 63 AR i
-5 (BRI Ji PEARIRZK O B |E&FERI B 23.00 ~ 23.33 0.33] 23.20 37.36 38. 56 38. 68 AR i
6 (&I Ji PEARIRZK B |E&FEHI i 23.60 ~ 23.72 0.12] 23.60 38. 29 39. 49 39. 66 AR i
BT [eHERI fiE PEARIRZK B |E&FEI Ly 18.00 ~ 18.40 0.40] 18.20 28. 42 29. 62 29. 82 AR i
-8 (&I fiE PEIRIRZK B |E&FERI i 19.40 ~ 19.80 0.40] 19.60 30. 33 31.53 31. 68 AR i
-9 [geFR)I fiE PEARIRZK B |E&FERI i 20.00 ~ 20.60 0.60] 20.40 31. 46 32. 66 32. 66 AR i
BE-10 [8FRI fiE PEARIRZK B |E&FERI i 21.20 ~ 22.20 1.00]  21.80 34. 10 35. 30 35. 16 AR i
211 (R fiE PEARIRZK O B |E&FEHI i 22.60 ~ 23.20 0.60] 23.00 36. 91 38. 11 37.70 AR i
BE-12 [ fiE PEARIRZK B |E&FEHI i 23.80 ~ 24.20 0.40] 24.00 39. 22 40. 42 40. 48 AR i
T-1 |%FRI - TIEY B | H%iE 17.71 17. 80 27.89 29. 09 - EEBRIN =
T-2 |%FRI - TIEY B HiARE 22. 20 22. 20 35. 03 36. 23 - EEBIRIN =
T-3 |%&FRI - TAEW B [=Z%ILE 23.33 23. 40 37.83 39. 03 40. 20 AR i
T 4 |%FRI TAEW A | EEKEE 23. 72 23. 80 38.76 39. 96 EEBRIN =
T-5 |%&FRI - TAEW B |HILiE 25. 13 25. 20 42. 60 43. 80 46. 35 AR =
T-6 |%FRI - TAEW B |iHiE 27. 02 27.00 48.12 49. 32 - EEBRIN =
T-7 |%&FERI - TIEY B | 27.81 27. 80 50. 57 51.77 - EEBIRIN =
T-8 |%&FRI - TIEY A IEERG 28. 92 29. 00 54. 26 55. 46 - EEBRIN =
T 9 |%&FERI TAEW O A |SRIRNIE 29. 55 29. 60 56. 63 57.83 EEBRIN =
T-10 [Ze&R)I - TAEW A | FNKEE 29. 84 29. 80 57.33 58. 53 - EEBRIN =
T-11 [Ze&R)I - TIEY B |IERIE 31. 09 31.00 62.21 63. 41 - EEBRIN =
T-12 (&R TAEW A RIIKERE 31.63 31. 60 64. 37 65. 57 - EEBRIN =
T-13 [Ze&R)I - TAEW B 3&ENIE 33.31 33. 40 78.91 80. 11 - EEBIRIN =
T 14 [Z&R)I TAEW B [HrERIE 33. 37 33. 40 78.91 80. 11 EEBRIN =
T-15 [Ze&R)I - TAEW B PIAKERE 33.52 33. 60 80. 15 81. 35 - EEBRIN =
T-16 |&FEHI - TAEW B |8RfE 33.72 33. 80 81.42 82. 62 - EEBRIN i
H-1 (&) I j 1E 1 B O FUEE | BERI LR 17.80 ~ 18.80 1.00]  18.40 28. 69 29. 89 30. 09 AR =
H-2 [&&)I I j 1E 1 B FUEE BRI LR 19.00 ~ 19.14 0.14[ 19.00 29. 50 30. 70 31. 09 AR =
H 3 [&&N)I I j 1E 1 B FUEE BRI LR 19.20  ~  19.60 0.40[ 19.40 30. 06 31.26 31. 41 AR =
H-4 [&&H)I I j 1E 1 B FUEE | BERI LR 24.60 ~ 25.13 0.52] 24.80 41. 37 42.57 - EEBRIN =
[H-5 [&&FR)I e 1E 1 B FUEE BRI LR 26.20  ~  26.40 0.20]  26.40 46. 27 47. 47 - EEBIRIN =
H-6 [&&H)I I j 1E 1 B FUEE BRI LR 28.20 ~  28.40 0.20]  28.40 52. 41 53. 61 - EEBRIN =
H-7 [3&R1 fijE 1E 1 B FUEE BB LR 18.00 ~ 18.80 0.80[ 18.40 28. 69 29. 89 30. 19 AR =
H 8 &R fijE 1E 1 B FUEE BRI LR 19.00 ~ 19.14 0.14[ 19.00 29. 50 30. 70 31.12 AR =
H-9 |[3&RI fijE 1E 1 B FUEE | BERI LR 19.20  ~ 19.60 0.40[ 19.40 30. 06 31.26 31.26 AR =
[H-10 |$&&R1)1] fijE 1E 1 B FUEE BRI LR 19.80 ~ 20.73 0.93[  20.20 31.19 32. 39 32. 49 AR =




)4 rfiE Gl I e & T A= a0 G Tl FHAT
EEN) fiE ENIES FUEE BRI LR 20. 80 20. 91 0.11[ 20.80 31.99 33.19 33. 29 AR =
EEN) fiE 1E 1 B FUEE BRI LR 21.00 ~ 21.20 0.20[ 21.20 32.70 33.90 33. 86 AR =
EEN) fiE 1E 1 B FUEE BRI LR 21.40 ~ 21.80 0.40[ 21.60 33. 64 34. 84 34. 54 AR =
EEN) fiE 1E 1 B FUEE BRI LR 22.00 ~ 22.21 0.21] 22.20 35. 03 36. 23 35. 85 AR =
EEN) fiE 1E 1 B FUEE | BERI LR 22.40  ~  22.60 0.20[ 22.60 35.97 37.17 36. 96 AR =
EEN) fiE 1E 1 B O FUEE | BERI LR 22.80 ~  23.20 0.40[ 23.00 36.91 38. 11 37.70 AR =
EEN) fiE 1E 1 B FUEE BRI LR 23.40 ~ 23.71 0.31[ 23.60 38. 29 39. 49 39. 31 AR =
EEN) fiE 1E 1 B FUEE BRI LR 23.80 ~ 24.80 1.00[  24.40 40. 15 41.35 41. 60 AR =
EEN) fiE 1E 1 B FUEE BRI LR 25.20 ~  25.60 0.40[ 25.40 43.22 44. 42 44. 95 AR =
EEN) e ES O 17.50 ~ 17.70 0.20] 17.60 27.63 28. 83 - EEBRIN =
3= 2 | EEN) Ji A X [H] O AN IR 17.77  ~  17.90 0.13] 17.80 27.89 29. 09 EEBRIN =
H-3 | EN) Ji A X [H] O AR e 23.10 ~ 23.30 0.28] 23.20 37.36 38. 56 38. 68 AR i
H-4 | EEN) Ji A X [H] O AR e 25.70  ~ 25.90 0.17] 25.80 44. 45 45. 65 44. 36 AR i
H-5 | EEFEN)I Ji X [H] O AR e 25.99 ~ 26.10 0.18] 26.00 45. 05 46. 25 44. 67 AR i
H-6 | EEN) Ji X [H] O AN IR 27.50 ~ 27.70 0.19] 27.60 49. 96 51. 16 - EEBRIN =
37| EEN) Ji A X [H] O AN iR 29.30  ~  29.50 0.15]  29.40 55. 81 57.01 EEBRIN =
H-8 |EHFEN)I Ji A X [H] O AN IR 33.10 ~ 33.30 0.21]  33.20 77.62 78. 82 - EEBRIN =
H-9 |[EN)I fiE A X [H] O AN IR 22.70  ~ 22.90 0.20[ 22.80 36. 44 37. 64 37.45 AR =
H-10 |5 ERI fiE X [H] O AN IR 26.70 ~  26.88 0.15]  26.80 47.50 48. 70 - EEBIRIN =
H-11 |5 ERI fiE X [H] O AN IR 27.30 ~ 27.50 0.23]  27.40 49. 34 50. 54 - EEBRIN =
12 [FFE)I fiE ES @) 28.70 ~ 28.90 0.20[ 28.80 53. 65 54. 85 EEBRIN i
H-13 |%FRI A ESA O 29.50 ~ 29.70 0.20]  29.60 56. 63 57.83 - EEBRIN =
H-14 |5ERI fiE A X [H] O AN IR 33.10 ~ 33.30 0.21]  33.20 77.62 78. 82 - EEBRIN =




